Footrest Support Assembly
JO932A-14




Footrest Support Assembly

J932A-14

Quantity Per

Iltem

Number | Note | Part Number |Description Package | Assembly

1 AB 8881101006 | Footrest Support Assembly, Color - Right 1 1
1 AB 8881101007 | Footrest Support Assembly, Color - Left 1 1
1 B 1101004-NLA | NLA - Footrest Support Assembly, Chrome - Right 1 1
1 B 1101005-NLA | NLA - Footrest Support Assembly, Chrome - Left 1 1
1 B 1133679 Footrest Support Assembly, Black - Right 1 1
1 B 1133680 Footrest Support Assembly, Black - Left 1 1
2 1031469-NLA | NLA - Handle, Release, Black - Right 1 1
2 1031470-NLA | NLA - Handle, Release, Black - Left 1 1
3 1026114 Screw, Phillips Pan Head (#10-32 x 1/2") 1 1
4 1025716 Screw, Phillips Pan Head (#10-32 x 11/16") 1 1
5 1025195 Locknut (1/4-20) 1 1
6 1100705 Washer (1/4 x 3/4 x 1/4") 1 1
7 1026907 Washer (1/4 x 1/2 x 1/16") 1 1
8 1027095 Plug Button, Black (7/8") 1 2
9 15680X012 Collar, Anti-Rattle (7/8") 1 1
10 1101000-NLA | NLA - Tube, Footrest Support, Chrome - Right 1 1
10 1101001-NLA | NLA - Tube, Footrest Support, Chrome - Left 1 1
10 A 8881101002 | Tube, Footrest Support, Color - Right 1 1
10 A 8881101003 | Tube, Footrest Support, Color - Left 1 1
10 1133677 Tube, Footrest Support, Black - Right 1 1
10 1133678 Tube, Footrest Support, Black - Left 1 1
11 1026030 Bolt, Lug (5/16-24 x 1-3/8") 1 1
12 1025730 Locknut (5/16-24) 1 1
12 1107321 Nut, Low Cap (5/16"-24) 1 1
13 1028707 Spring, Release - Right 1 1
13 1028708 Spring, Release - Left 1 1
14 1028846-NLA | NLA - Rivnut (#10-32) 1 1
15 1025735 Locknut (#10-32) 1 1
16 47565X057 Bushing (7/32 x 3/8 x 11/32") 1 1

NOTE: A - Specify frame color when ordering. See category titled, "Upholstery Colors, Frame Finishes and Packaging."
B - Includes items 2-16.




